














13











4

3















A

A

B

B

F

F

C

C

D

D

E

E

16

16 15

13

13

2

14

12

12

19

19

18

18

20
20

22

23

23

24

24
24

24

25

26

26

27

28

21

6

6

6

6

1

5

5

5

5

5

4

10

11

17

17

7

7

7

7

9

8

8

3



A

A

B

B

F

F

C

C

D

D

E

E

16

16 15

13

13

2

14

12

12

19

19

18

18

20
20

22

23

23

24

24
24

24

25

26

26

27

28

21

6

6

6

6

1

5

5

5

5

5

4

10

11

17

17

7

7

7

7

9

8

8

3







13

12

15

14



-22-

12．電装関係

符号 個数 備   考 小売単価

1 0314-430-200-0 ：28 ﾊﾞｯﾃﾘｶﾊﾞｰCOMP 1
2 V211-360-802-0 ｺｶﾞﾀﾎﾞﾙﾄ(SP) M8X20 2
3 0453-455-011-2 ﾊﾞｯﾃﾘ34A(G) 34A19R 1
4 0550-611-220-0 ﾘﾚｰ(ACA1214)SET 1
5 0560-430-013-0 ﾊﾞｯﾃﾘｵｻｴｺﾞﾑ 1

6 0450-505-013-0 ﾒｲﾝｽｲﾂﾁ 1
7 0314-430-210-0 ﾒｲﾝｺｰﾄﾞCOMP 1
8 0660-760-031-0 ｸﾗﾝﾊﾟ(9) 1
9 3913-523-012-0 ｾﾑｽﾎﾞﾙﾄM6X12(ﾛｸｶｸ) M6X12 1
10 3536-142-006-1 ﾜｲﾔ-ﾄﾒｶﾅｸﾞ 1

11 V211-360-601-6 ﾎﾞﾙﾄ(SP) M6X16 2
12 0314-430-011-0 ﾌﾟﾗｽﾘｰﾄﾞｾﾝ 1
13 0367-403-210-0 ﾏｲﾅｽﾘ-ﾄﾞｾﾝ 1
14 0453-717-230-0 ｾﾝｻ(ｼﾄﾞｳ) 1
15 0314-710-011-0 ：30 ｾﾝｻﾌﾞﾗｹｯﾄ 1

16 V111-163-002-0 ﾌﾟﾗｽﾅﾍﾞｺﾈｼﾞ M3X20 2
17 V411-260-003-0 ﾐｶﾞｷｻﾞｶﾞﾈ 3 2
18 V360-260-003-0 ｻﾗﾊﾞﾈﾂｷﾅｯﾄ(M3) M3 2 4T
19 V200-260-601-6 ﾎﾞﾙﾄ M6X16 2
20 3789-151-006-0 ﾎｼﾞﾖﾘﾝﾌ 2

21 V360-260-006-0 ｻﾗﾊﾞﾈﾂｷﾅﾂﾄ 1ｼﾕ M6 3
22 22E-71401-01 DIODE　RECTIFIER　CP 1 ｴﾝｼﾞﾝ部品

部品名称部品コード

11

5

3

4

16

15

13

14

12

19

18

2022

21

21

17





1



1





1





13

2

14

12

6

1 5

4

10

11

11

7

9

8

3



10





5





20

21

6









2
5

5

5

5

5

5

5

5



1

2

3

4

5

6

7

8



2

6

1

5

4

10

7

9

8

3



21 3

( 4 )





13

2

14

12

6

1

5

4

10

7

9

8

3

11



4



1

2

3

4

4

5

6

7

8

8

9

10

11

12

1314

15

16

1718

19

20
21 22

23

24

25

26

27



1

2

3

4

4

5

6

7

8

8

9

10

11

12

1314

15

16

1718

19

20
21 22

23

24

25

26

27



1 2

3

4

5
6

7

8

9

10

11

12

13



1

2

3




